plfl [GeV] Best fit (fb)

0g_s 2.861 020 (syst. )ﬂ gg(stat ) x 107
05_10 8.73705) (syst. )+§ ?g(stat) x 10?
010-15 1287008 (syst.) " e (stat.) x 10°
01520 112008 (syst.) "y (stat.) x 10°
02025 4167000 (syst.) "71g(stat.) x 10
02530 8.13 1033 (syst.) 5] (stat.) x 102
030—35 5.14 033 (syst.) s (stat.) x 10°
a5 45 5.857023 (syst.) T 20 (stat.) x 102
04560 2.717038 (syst.) "y 2o (stat.) x 102
T60—80 2.88 1017 (syst.) "ya(stat.) x 107
080—100 2.37f8:;{2(syst.)fgzgg(stat.) x 107
0100120 6.16 1090 (syst.) 5 s (stat.) x 10"
0120140 9.07 080 (syst.) 117 (stat.) x 10!
0140170 5.31 7030 (syst.) e (stat.) x 10"
0170200 1.39 102 (syst.) " ¢3 (stat.) x 10!
0200250 1471032 (syst.) Ty, (stat.) x 101
Oos0_350 | 428703 (syst.) oy (stat.) x 10°
0350-450 | 967170 (syst.) g (stat.) x 10!
0~ 450 4.371 8 (syst. )le Zg(stat ) x 1071




